
EXERCÍCIOS: Derive as seguintes funções: 

1) y = √(3𝑥2 + 6𝑥 − 2)23
. (𝑥2 + 1)3 

 

2) 𝑓(𝑡) = √
2𝑡+1

𝑡−1
 

 

3) 𝑓(𝑥) =
5

ln(
1

𝑥
 +

1

𝑥2)
 

 

4) 𝑓(𝑦) = 𝑦3. ln(𝑦²) 

 

5) 𝑦 =
ln(sen(𝑥))

𝑥
 

 

6) 𝑦 =
23𝑥

43𝑥2−6𝑥
 

 

7) 𝑔(𝜃) = 𝑒sen²( 𝜃) 

 

8) 𝑦 =
1

2
. (2 + 3𝑥)ln(2+3𝑥) 

 

9) 𝑓(𝑧) = 2. cos(𝑧)2. sen³(2𝑧) 

 

10) 𝑦 = sen³(cos(tg(𝑥²))) 

 

11) g(β) = β. cos³(√𝛽³
5

) 

 

12) 𝑓(𝑦) =  
3.sec ²(𝑦)

𝑦
 

 

13) 𝑦 = 𝑒2𝑥 . cos(3𝑥) 

 

14) 𝑦 =
arc sen²(𝑥)

(1−𝑥²)²
 

 

15) 𝑓(𝑡) = arc cos ³(sen(𝑡)) 

 

16) y = cotg4(2𝑥 − 3)² 

 

17) f(θ) = ln(cos(𝜃2 − 1)) 

 

18) 𝑦 = (sen(𝑥). cotg(𝑥))2 +

sen²(𝑥) 

 

19) 𝑦 = √(3 − 𝑥). √𝑥6 − 10𝑥
3

 

 

20) 𝑦 = √(√1 − 𝑥 − 𝑥2)
3

+ 1 

 


